e Take a look at this chart

We use the verb “have” to express Negative
possession.
In the negative we use “don’t have” or “doesn’t have”
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They have long hair. She has short hair. | don’t have a car

He doesn't have blue eyes

o Now read this magazine article about Lionel Messi and his family.
* Then choose the correct option:

This is Leo’s family, They ARE / IS five.

Antorella is Leo’s wife. She HAS / HAVE long straight HAIR / EYES. She IS /
HAS tall and beautiful. Anto DON'T HAVE / DOESN'T HAVE blond hair. She
HAS / HAVE dark hair.

Leo's kids ISN'T / AREN'T tall; they are short. They HAVE / HAS dark short
EYES / HAIR and beautiful big eyes.

Leo HAVE / HAS a beard. He isn't TALL / STRAIGHT HAIR. He IS / ARE very

good looking, too. " Keep Up \
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